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PAPER-I

PUBLIC ADMINISTRATION

Signature and Name of Invigilator

1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

bl1l4HE

Time : 1Y/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 20

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet. '

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 3.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10.
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PUBLIC ADMINISTRATION
Paper — 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

The book ‘The Intellectual Crisis in
American Public Administration’
deals with

(A) New Public Administration
(B) Ecological Approach

(C) Developmental Approach
(D) Public Choice Approach

Which one of the following is not
Taylor’s mechanisms of Management ?

(A) Using a routing system

(B) Employing a mnemonic system

(C) Employing a modern cost
system

(D) Using a gang plank.

Which is not true about the Indian
Independence Act, 1947 ?

(A) Two Dominions were
constituted — India and
Pakistan.

(B) The Suzerainty of His Majesty
over the Indian States would
lapse.

(C) The Constituent Assembly
would  function as  the
Legislative Assembly for the
interim period.

(D) The Governor General would
have limited power to assent to
any Bill in the name of His
Majesty.

The Royal Commission on
Decentralisation was headed by

(A) Lord Dalhousie
(B) Lord HobHouse
(C) Lord Rippon
(D) Lord Mayo

Who of the following has described
authority as the supreme
co-ordinating power ?

(A) Karl Marx

(B) F.W.Riggs

(C) Max Weber

(D) Mooney and Reiley

Which of the following are correct ?

(i)  Theory of : Max Weber
Social and
Economic
Organisation

(il)) Models of : H.A. Simon
Man

(i) Organisation : F.W. Taylor
and
Management

(iv) Elements of : F.M.Marx
Public
Administration

Codes :

(A) (1), (i1) and (iv)

(B) (i), (i1) and (iii)

(C©) (i1), (ii1) and (iv)

(D) (iv), (1) and (iii)

Which one of the following is not
correct regarding Downs’
categorization of Bureaucrats ?

(A) Climbers

(B) Voters

(C) Advocates

(D) Statesmen

The phrase ‘developmental
bureaucracy’ was coined by

(A) LaPalambora

(B) Fred. W. Riggs

(C) William Siffin

(D) Edward Weidner
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M : T URTT H UO (50) SE-fohedid U9 € | U U9 At (2) 3§ | |t U S |

1. < fecioger™ ®EMaE 3 SMREA
IfeTeh  USHMRY s fhd 9
T € 2
(A) T @A T
(B) uiRfefqes Surme
(C) Towra U™
(D) e == 3UTTH

2. T=feiEd § 9 @i 91 2oR & e i

fopanfatera @ Trafraa 78 & 2

(A) TH UAFEROT FEm I
FHEAT |

(B) UH TRUSHS e &l e
FHEAT |

(C) U MY AN T Sl AN
AT |

(D) U TTCAS T TENT BT |

3. YR T AU, 1947 % 9R |

I | T Tl el € 2

(A) YRA TS UIfRE — I 59
T Tomar T |

(B) wRdE vt (REmdn) w fsfest
TS 1 TG THT & ST |

(C) IR\ o7 H Gfgas T
ferentaenT <61 B/ B |

(D) fofewr @wre & 9 W fodr o
favas # Wipld 37 e
e’ SR & 919 GifFd wifear
B |

4. i\OIbeg?leb{Ul T {vlﬁl('i OhHr\I-‘él"I % T
i & 9
(A) oS SeRst
(B) ©IE BRIy
(C) oe =
(D) e "at

5. Tefcfad & 9 a4 T & gared
TEagHRI VI o &9 H aforq fopar & 2
(A) et T
(B) UE T=g, foH
(C) BT e’

(D) ¥ Uud

6. ffafEa & Q@ S T T E 2
@) @{ﬁaﬂtﬁw T AR

(i) Weew sfm o : TAT FEEH
(iii) SFRITESIA

(iv) ufemved o : TETH. A

T

(A) (@), (i) &R (iv)
B) (i), (i) #R (i)
©) (1), (iii)aﬁT (iv)
(D) (v), (i)3ﬂ'{ (1i1)

7. S HT AR & HICHIOT T
H I T Tel el € 2
(A) FARHTE
(B) @™
(C) uEarhed
(D) wWeHHA

8. ‘STGUNUCHA SRGHE’ A W

AT T Toha foha o 2
(A) A AT

(B) e =g, fog

(C) Taferam fawsa

(D) TsHE dlgR
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9.  Which one of the following terms 13. A public personnel may face
does not apply to the Vice-President disciplinary action on the following
of India ? basis :

(A) He may be removed by (1) Inattention to duty
Impeachment. (i) Inefficiency
(B) He may resign by writing to the (iif) Insubordination
President. (iv) Integrity
(C) He may be removed by a Rajya CAodes .: o
Sabha Resolution and agreed to (A) (9’ (19,’ (”9
YRS TOR SR © (@), Gi), (iv)
(D) He may seek re-election for (D) (i), (ii), (iii), (iV)
any number of times.
_ . 14.  Which of the following motion is not

10. The creation of the post of Policy related when the demand for grants
Adviser in each department of are considered and passed by the Lok
England was suggested by Sabha ? _ .

(A) Fulton Committee LA olicy Cut Motwn
) (B) Censure Motion
(B) Rc?yal Comrmtt.ee (C) Economy Cut Motion
(C) Priestly Committee (D) Token Cut Motion
(D) Appleby Committee
15. What is not true about a Money Bill ?

11. Who called the Indian Civil Services (A) It can be introduced in any of
as the Steel frame of Indian the House.

Constitution ? (B) The Speaker has the final

power to decide its character.

(A) Pt Jawaharlal Nehru (C) The President or Governor, as

(B) Sardar Patel the case may be, has limited

(C) Dr. B.R. Ambedkar powers in case of a Money
(D) Govind Ballabh Pant Bill. ,

(D) It shall not be introduced or

. . moved  except on  the

12. W-hat‘ is not an adVéntage of seniority recommendation of the
principle of promotion ? President or Governor, as the
(A) It is more objective and easier case may be.

in application.
(B) It eliminates internal strife for 16. Whlch one of the following is not a
d ¢ Constitutional Body ?
advancement. (A) Union Public Service
(C) It promotes general morale of Commission
the personnel. (B) Finance Commission
(D) It affects the self-improvement (C)  University Grants Commission
efforts of personnel. (D) Election Commission
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TR & SWILAT & G § i @
o ] &l &l ?

(A) 39 TEINIRT AT gRT &erEr S
TFHATE |

(B) @& UUM & A9 U foTEe U
T WHaT € |

(C) 3T TN & U R aer
AE W RT3 SFHIGT FRT
T 9 & ST HEATE |

(D) @ T & IR g g Wbl § |

v 1 e fomm # Hifq FeTesdr %
Ug 1 G G gere fehee fea o o
(A) oA gl
(B) Eer @Efd
(C) vikeet afmfa
(D) wwers! gl

. e 9rRdlE Aegdaet & 9RAE

T 1 LIl % T € 2
(A) . STARIATA "E®

(B) WER U

(C) S a3, emaeHT
(D) Tifa= SoenT Ud

TEId & aNedl YR g 0

I 9T 0T & 2

(A) TE s T § 3T 3«
HET AT |

(B) ¥E 3HIT & foIw e=dRies Terst st
T HATE |

(C) o€ HIMHHI & THT TAE
TeATTed YT € |

(D) T& FHHR % IMH-GER Trawf
TATET hi TSI el € |

13.

Th ollsh hiiHeh =foigd STERT 9T
STIRIETCHS HRATE T UT & Thell &

(i) T & Ufd @ =T I
(i) STHEEHICT

(i)  SFTEar

(iv) GearTeadn

E T

(A) (1), (1), (iii)

B) (i), (ii1), (iv)

©) (1), (iid), (iv)

(D) (1), (i), (iii), (iv)

S @ @ W SR S A/ W
foa qer ol & ST @ el §, o
frefafed & @ SF o1 wde gy Té
B & 2

(A) T It I

(B) &1 weE

(C) o= et wemd

(D) 2 HIT T

T o fadgs & IR H DI 91 T A

g2

(A) U foHar off 9e= o wqa fopar s
THATE |

(B) U WEY Fl FvEd H graw
Ty wIfeRT TfieRY/3TeAeT & U
TAE |

(C) U o foqeges & a # wegufa A
TS i FTE ARt gt € |

(D) TV TUMT AT TTATA H ST
% o 959 § weqa A uer e
fopam < Tt |

frfefed & ¥ S | Foures e
TwIE?

(A) I A Tar T

(B) fa<r smamT

(C) TovatoRerd 3EH 3T

(D) Fara= s
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17.

18.

19.

20.

21.

The Statutory Status was given to the
erstwhile Minorities Commission in

the year :
(A) 1994 (B) 1978
(C) 1993 (D) 1990

Which Independent State merged
into Indian Union with the consent of

the people ?

(A) Jammu & Kashmir
(B) Sikkim

(C) Goa

(D) Hyderabad

Who opposed the entry of Political
Parties to the Local Bodies Election ?
(A) Jawaharlal Nehru

(B) Jaiprakash Narayan

(C) Sardar Vallabhbhai Patel

(D) Abdul Kalam Azad

Which one of the following
Institutions is responsible for Social
Audit ?

(A) Gram Sabha

(B) Village Panchayat

(C) Intermediate Panchayat
(Panchayat Samiti)
(D) District Panchayat (Zila

Parishad)

Assertion (A) Public
Administration 1s concerned
with the management of public
programmes.

Reason (R) : Public Administration
is policy-making.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) s false, but (R) is true.

22.

23.

Assertion (A) : The Chief Secretary
at the State level does not have
a fixed tenure.

Reason (R) : The  First
Administrative Reforms
Commission did not make a
specific recommendation in
this regard.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Kautilya’s King is
the fountain of justice.

Reason (R) : The King administers
justice in accordance with
edicts and evidence.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) According to
Bernard, authority resides in
the relationship between a
superior and its acceptance by
a subordinate.

Reason (R) : To Barnard, authority
is the character of an order in
an organization by virtue of
which it is accepted.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) 1s false.

(D) (A) is false, but (R) is true.
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17. SToUwEs AN &I 69 a9 | dfargs 22. AR (A) @ TR W A
TR IS T T4 2 Tfaa 1 gty Fived 7@ e e |
(A) 1994 (B) 1978 T (R) : W RIS GHR
(C) 1993 (D) 1990 ST 39 A H HIE forer rgeren

T |

18. & W T 9 & s
e < g1 () (%) 71 R) 2 & o (R
@) i (A) I TE AR E |

L T (B) (A) 7 (R) 3 T ¥ W (R),
(B) faferrm (A) T TE AT TR T |
(C) e (C) (A)Te & W= (R) Tod ¥ |
(D) &R (D) (A)Ted &, W (R) T & |

19. TR HHEr & Al § T ol 23. AMIHAT (A) : DT HT T/HD
& TSt 1 TR fate T 2 R R R
(A) SR HEE B (R) TN TERE q
(B) ST AR Tt & SR AT HIAT o |
C TS T R
() T (A) (A) T (R) HT W & 741 (R),
(D) 35T SHelH 3SR (A) T Tet = € |

B) (A R) T W& €, R),

S — ® W
ST > AT SR € 2 (C) (A) T ¥, W (R) Tom ¥ |
(A) TR (D) (A) e &, WA (R) W & |
(B) ™ e
(C) damd |iHfd (Fered damd) 24, AWFHUT (A) : TS F IR, T
(D) TSt aRwg (fefgae damem) QEWEEWWWWW

T WPid o oid & i
. ferme et & |

21. aifW(A)'a;_q;jz@wnw ;lc;b & ®) :EFﬁé’éo‘ -

ﬁ"”g‘”'.w”“% Frelt WMo B T amw @
ﬂ‘%ﬂm- R fomtr & e g sEE

! ST I ST & |

T . %2

(A) (A) @@ (R) SHT Gl & @2 (R), (A) (A) T (R) a1 T ¥ @ (R),
(A) I Gl A ¥ | (A) & T& AT E |

(B) (A) T (R) 3T Tl & W] (R), (B) (A)@am (R) 34 @& &, W= (R),
(A) Tl T AT FE 7 | (A) I T AT & E |

(C) (A)TE g R (R) T € | (C) (A) Wl g, W= (R) ToTd € |

(D) (A) T €, W] (R) W& & | (D) (A) 7o &, W= (R) WEl & |
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25.

26.

Assertion (A) : The U.S.A. has
no machinery analogous to
the Whitley Councils of the

U.K.

Reason (R) The US.A. is a
traditional home of patronage
bureaucracy.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct

correct

explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A) s false, but (R) is true.

Assertion (A) Methods  of
legislative control over
administration in a
parliamentary ~ system  are

different from those in a
presidential one.

Reason (R) : In the presidential
system of the United States,
powers of administration are
vested in the President.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

correct

correct

27.

28.

29.

Assertion (A) : Joint Consultative
Machinery (JCM) promotes
harmony between the
employees and employer.

Reason (R) : Redressal of employees
grievances boosts up their
moral.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : The relationship of a
Minister and a Civil Servant is
that of a Master and a Servant.

Reason (R) : A Civil Servant is
required to render honest
advice to the Minister.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A)is true, but (R) 1s false.

(D) (A)is false, but (R) is true.

Assertion (A) Transparency in
administration is a salient
feature of good governance.

Reason (R) : The R.T.I. Act, 2005
has contributed in ensuring
good governance.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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25.

AWFHYT (A) : ERH | A A
f@geet URUsT & AHET HE a=
TIE

& (R) : SR TETH
RCTET o1 TRAT B @1 ¢ |

(A) (A) @1 (R) IHT W&l & a1 (R),
(A) F & @ E |

(B) (A) T (R) 31 Tl &, =] (R),
(A) Tl T AT FE 7 |

(C) (A) Tl g, W (R) Tord € |
(D) (A) T &, W (R) W& |

Ao (A) @ TR W fam
=07 o TWieh §ESIT T |
ITTCHS e | =1 81 & |

& (R)
T IS TR H, WA
! Fiferrar Teeaia § e € |

: GgFT ST TR

%

- .

(A) (A) @1 (R) IHT W&l & a1 (R),
(A) & @ E |

(B) (A) T (R) 31 Tl &, =] (R),
(A) Tl T AT FE 7 |

(C) (A) Tl g, W (R) Tord & |
(D) (A) T &, I (R) T & |

27.

AWHYT (A) : TIFT TARHRT T
FHEAEA qar AT & qe

HiEls ! Uicdlied Har & |

& (R) : HEATRA Eal
Terepraat &1 e 39 A
I T € |

W: . .

(A) (A) @1 (R) 3HT W&l & a1 (R),
(A) el AT |

(B) (A) T (R) T Tl & R (R),
(A) I T AT TEE |

(C) (A) T T, W (R) T € |
(D) (A) T &, =] (R) W&T € |

AMFAT (A) : TH A= 9 AE
o & =Y TH @l 3T
Tk S € |

& (R) : TH ol Qs h
Heq foh e 7= &l THFRER 9
RS UG HY |

ETE

(A) (A) T (R) 3HT Gl € @ (R),
(A) & T& =@ E |

(B) (A) T (R) 3 Wl & = (R),
(A) I T AT TE E |

(C) (A) Tl g, W (R) ToTd € |

(D) (A) T &, W] (R) Tl € |

ANFIT (A) : WA § ORGSR
GG ! Teh T (a9 € |
% (R) : LSTE,

atfafa, 2005 F FOUET H

-~

g & § AEE o €

ETE

(A) (A) @ (R) ST F&l & & (R),
(A) ol TE AT E |

(B) (A) @ (R) 3 Tl & W (R),
(A) I T AT TEE |

(C) (A) Tl g, W™ (R) ToTd € |

(D) (A)Toid &, = (R) W&T € |
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30.

31.

Assertion (A)
Institutions could not become

Panchayati Raj

effective even after 73"
Constitutional Amendment.

Reason (R) : State Governments
have not given adequate
powers, finances and personnel
to Panchayati Raj Institutions.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

correct

What is correct about the formation

of new State/s in Indian Union ? Use

the codes given below for correct
answer :

(1) It can be done by separation of
territory from any existing
State.

(i1)) It can be done by uniting two
or more States or part of States.

(iii)) The creation of new States can
be accomplished by an
ordinary legislation.

(iv) The Parliament cannot alter the
territory of the States without
their consent.

Codes :

A) (), (1), (iv)

B) (@), (i), (iii)

(©) (@), (i), (iv)

D) (i), (iii), (iv)

32.

Arrange the following in correct
sequence of their evolution in the
discipline of Public Administration.
Use the codes given below for

answer :
(i) Motivation — Hygiene Theory
(i1)) Ecological Approach

(iii) Needs Hierarchy Theory

(iv) Scientific Management

Approach
Codes :
(A) (), (i), (iii), (iv)
(B)  (iv), (iid), (i), (1)
(© (), (i), (1), (i1)
(D) (i), (iv), (1), (i1)

Arrange the following works in their
chronological order. Use the codes

given below for answer :

(i) Papers for the Science of

Administration

(i1)) The Principles of Scientific

Management

(iii) Public Administration in a

Time of Turbulence
(iv) Motivation and Personality
Codes :
(A) (@), (i), (iii), (iv)
®B) (i), (i), (i), (iii)
(© (i), (iid), (iv), (1)
(D) (i), (D), (i), (iv)
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30.

AU (A) : TEECT T AT, 739
HayT-er HemeE Afataq & a1
ot oryrelt =&t &t |t € |

& (R) : T°9 SHRI A =@t I
Tenet o uai vk, fod
T HITHF UG Tél T & |

ETE

(A) (A) T (R) T T € 70 (R),
(A) Ft & T E |

(B) (A) T (R) 31 Tl &, =] (R),
(A) Tl & AT TEE |

(C) (A)TEE R (R) T & |
(D) (A) T €, W] (R) W& & |

O™ G99 H A0 TSGASE % HET
T} 1 W ¥ 2 I o A U e
%TW@

() v fedt faeme TS % e @)

FTEAT ¥k HY Tohd ¢ |
(i) = 3 SAE TS AT AP AW B
TRt |

(iii) 7T TS F TS FER e
g1 feoha ST Tehe & |

(iv) 9 A o Geufd & for SR
T & T REd el o Gehdl & |

HT:

(A) (), (i), (iv)
B)  (®, (in), (iii)
©)  (®, (i), (iv)
(D) (), (i), (iv)

32.

Ak U % 339F & g wH H
Fafer # 31X A 7T T % i 788

()  ANTROT-ETERERE T

(i) uRfefqsE Sarg

(i) STAvIHATST I HEGAT I
g

(iv) SH® Yawe SUNTH

YA

(A) (@, (i), (iii), (iv)
B) (@), (iid), (i), (1)
(©) (), (iid), (1), (i1)
(D) (i), (iv), (i), (i1)

FATAREd Sl 37 AT § Farerd
FX | el IR A T A T T Fe F
o

() TRE wR & WRE
REIREEE]

(ii) 3 et oiw arEfefre B

(ii) it TSI T erd
3 2

(iv) HifeavH wg gd-wet

£

(A) (), (i), (iii), (iv)

B) (i), (D), (iv), (iii)

(©) (i), (iii), (iv), (i)

D) (i), (), (i), (iv)
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34.

3s.

36.

Arrange Maslow’s Hierarchy of
Needs in descending order :

(1)  Social Needs

(i1)) Self-actualisation Needs
(ii1)) Physiological Needs
(iv) Ego Needs

(v)  Security Needs

Codes :

(A) (iii), (v), (1), (iv) and (ii)
(B) (1), (v), (1), (i1) and (iv)
(©) (1), (1v), (1), (i11) and (v)
(D) (i), (iv), (1), (v) and (iii)

Arrange the following experiments
conducted by Elton Mayo in the
chronological order and select the
correct answer from the codes given
below :

(1) Mass interviewing programme
(i1)) Textile Mill Experiment

(ii1)) Illumination Experiment

(iv) Bank Wiring Experience
Codes :

(A) (i), (iii), (i) and (iv)

(B) (iv), (1) and (i1)

(C) (i), (1), (i1) and (1v)

(D) (i), (iv) and (iii)

What is the correct sequence of
Scientific Research ? Answer by
using the codes given below :

(i) Formulation of Hypothesis

(i)  Selection of Problem

(iii)) Generalization

(iv) Collection and Analysis of data
Codes :

(A) (@), (iD), (ii1), (iv)

B) (i), (@), (iv), (iii)

(©) (@), (i), (iib), (i)

D) (i), (iv), (1), (iii)
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37.

38.

Arrange the following in order of

sequence regarding requirements for

a rational policy :

(1) Identification of
alternatives to attain goals.

policy

(i) Analysing cost benefits of
policy alternatives.

(i) Selecting the most efficient
policy alternatives.

(iv) Identification and ranking of
goals.

Codes :

(A) (1), (1), (iii), (iv)
B)  (@v), (1), (i1) , (iii)
(C) (i), (ii), (iv), (i)
(D) (), (i), (iv), (ii)

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — II
a. Chester 1.  Models of
Barnard Man
b. Herbert ii. The Human
Simon Side of
Enterprise
c. M.P. Follett iii. The Functions
of the
Executive
d. Douglas iv. Creative
McGregor Experience
Codes :

a b c d
(A) ii i i v
B) i i v il
(C) il i iv ii
(D) il il




34.

Al I STATAHATSTT Sl SHIHBAT i
S 3TeRIET T H AT Y
(i) TS SavTHaTd

(i) oTen-fafg = sTevIwHaTy
(i) 3w sTEvIHAT

(iv) T D SEavTHAT
(v) ORI G ST
T

(A) (i), (v), (), (iv) &R (i)
(B) (i), (v), (i), (ii) 3R (iv)
(©) (i), (iv), (i), (iii) 3R (v)
(D) (i), (iv), (D), (v) S (i)

. Ueed Oai gW fRU T wERT W

HIATHA | Fared e dR A" K
F U el IR T A

() T gefataT ww
(il) I el TequREe
(iii) TIHATH TR
(iv) % AR TediET
B

(A) (i), (i), (i) 3R (iv)
(B) (iv), (i) ¥R (ii)

(C) (iid), (@), (ii) 3R (iv)
(D) (i), (iv) 3R (iii)

S S B Sfad HE FME 2
TE ST BT T A ST Pl T B
(i) URepeTT S T

(i) T H T

(ili) QTETHOT

(iv) 3iihel 1 TuE e forverooT

E T

(A) (1), (i), (iii), (iv)

(B) (i), (1), (iv), (ii)

(C)  (iv), (ib), (iid), (1)

(D) (i), (iv), (1), (ii)

37.

TS e Aifd & F= § Ffarad &

HAGE HL | W H 9gT A KT M

(i) @& @ mia &g it foeweat
Tafed T |

(i) fq fapedi & W @ @6
fawerooT e |

(iii) Fattyw Fer Hifd faskes & ===
FHET |
(iv) o3 o TeaM 3R TRIFOT HET |

YA

(A) (i), (1), (iii), (iv)
B) (), (i), (i1) , (iii)
(©) (i), (ii), (iv), (1)
(D) (), (i), (iv), (i1)

LOgE - g - I e wY SR

= e T P W HEE ¥ R W A
EI'EFTEB\'
e -1 = - 10

a. IR IS i. Hieoq 3w
o

b. &9 WA ii. < emE e
3T oIS

c. THU Woold  iii. 3l FoREd
A 51
HSERICe]

d. SO HHIR iy, fsRuled
I

£

a b c d
(A) i i i v
B) i iioiv il
(©) i i iv i

(D) i i i v
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39.

40.

Match List — I with List — II and
select the correct answer from the
codes given below :

List—1 List — 1T
a. Classical 1. Interaction
Theory between
Organisation
and
Environment

b. Behavioural ii. Shop  floor

Approach activities of
Organisation
c. Systems i1 Formulation
Approach of Principles
of
Organisation
d. Scientific iv. People in the
Management Organisation
Codes :

a b c d
(A) iv i i ii
B) i v il i
(C) i v i ii
(D) i i iv il

Match List — I with List — II and

select the correct answer from the

codes given below :
List -1

a. M.P. Follett 1.

List — 11
The Ecology
of Public
Administration
Dynamic

Administration

c. F.W.Riggs iii. Motivation

and

Personality
d. A.Maslow iv. The
Motivation to
work

—

b. Hergberg ii.

—

Codes :

a b c d
(A) i v i i1l
B) i v 1l 1
© i 1 i iv
(D) v i il i

Latest Sarkari Jobs, Govt Exam Results,
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41.

Match List — I with List — II and
select correct answer from the codes
given below :

List -1 List — 11

a. Autocratic 1. Making
decision decision with
making participation

b. Democratic ii. Making
decision decision with
making little

consultation

c. Rational iii. Making
decision decisions on
making the basis of

calculation and
choosing the
best option

d. Consultative iv. Making decision

decision by inviting
making opinions
Codes :

a b C d
(A) i i - iv
B) i 1 1 iv
(C) 1iv i ii i
(D) i1 il iv i

Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1
a. Theory—X 1.

List — I1
Integration of
behaviour is
the key
process in
Management.
b. Theory—-Y ii. Calls for

vertical job
loading.
c. Job iii. Based on the
Enrichment traditional
conception of
control and
command.
d. Job iv. To provide
Enlargement more control
over one’s
activities and
greater
participation
in decisions.
Codes :
a b c d
(A) i i i v
(B) il 1 i v
(C) 1u 1 v 11
D) 1 v 1 i



39.

gl — [ 1 gt — 11 9 e Y 3

< I FEE Tl IR H 74 e
T -1 = — 11
a. OERETT i, AU
EEAR] TJITEROT
e 37 Tshar
b. FEERER! ii. TS W
Eriut) FAR
.

c. ARSI iii. TS &
TagT=i 1
fmToT

d. AT TS iy, G H @

E

a b c d
(A) iv i i ii
B) 1 v i i
(C) iii v i ii
(D) i i v il

gt — [ % gdt — 11 ¥ e & 3R

T KT T P H TET T Gel I B
T H
= - 1 =t — 11

a. TAOL Woele | I gehierT
3 UfscTeh
UM

b. &S ii. eEAm®
UM

c. ThIg, g jii. HifleavH wuE
gt

d. T wwH iv. 3 AifeavH T
a5

B

(A) i iv i i

@) i v il i
© i i i iv
(D) iv i i i
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41.

T — 1 & gt — 1 9 el i) §

TN ek el AT T T Y
T -1 T - 11
a. WOER i, WEWINTAT SR
g fmTor g fmTor
b. AR ii.  dTS WREI &
o fmtor ey fotg FmTor
c. ik MOIF jii. @ faeR &
7T YR W U
FAT 3R deX
fased 1 T
d. WRRI iy, STEf fouri &
o fmtor MR W o
gt
T
a b c d
(A) 1 i i 1
B) i 1 i iv
©) iv i i i

(D) i i iv i

g — 1 v gaEt — 11 & e w3

e T WERT THT Tel SR
= -1 = — 11
a. FR-URT i, IR H THIHT
e UTsHAT Sl it
T
b. FRI-EE . g HE 9 H
AT AT E |

Hag TERTT STTEROT
T MR ¢ |
d. ®d iv. I st TidfareEr
foreamoT e CA T
3R ot o erfues
TEWTHTAT T AT
FATE |
- T

(A i i i v
B) ii i i iv
© i i ivo i
(D) iv i i




43.

44.

Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — II

a. R. Blake i. Path-goal
and J. Theory
Mouton

b. Fred ii. Managerial
Fiedler grid

c. Robert iii. Life Cycle
House Theory

d. P.Hersey iv. Theory of
and K. Leadership
Blanchard Effectiveness

Codes :

a b c d
(A) i v i i1l
B) v a il i
©) 1 v il i
D) i i iv i

Match List — I with List — II. Select
the correct answer from the codes
given below :
List -1
a. Power of the 1.
Union or the
State to frame
recruitment
rules for public
services
b. Safeguards and ii.
protection of
civil servants
against
arbitrary
executive
orders
c. Public Service iii. Article 311
Commission
for the Union
and for the
States
d. Creation of All iv. Article 312
India Services

List — 11
Article 309

Article 310

—_

v. Article 315
Codes :
a b c d
(A i il v
B) ii i v v
(©) i 1 iv %
(D) i m v v
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Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — IT

a. Dismissal 1. Isnota
punishment and
an employee
cannot claim
protection
against it under
Article 311.

b. Removal 1ii. Does not make
one unfit for
reemployment
under the
Government

c. Suspension iii. Makes one
ineligible for re-
employment
under the
Government

d. Compulsory iv. Does not attract

Retirement the safeguard of
Article 311(2)
Codes :
a b c d

(A) i i v

B) 1 11l i v

(C) 11 il i v

(D) 1iv i ii 1ii

Match List — I with List — II and

select the correct answer by using the

codes given below :
List—1 List — 11
a. Public 1. Suggests
Accounts alternative
Committee olicies for
ringing
efficiency and
economy in
administration.

b. Estimates ii. Comprises of

Committee members from
both the Houses.
c. Committee 1iii. Scrutinizes the
on Public report of CAG
Undertakings in regard to the
appropriation
accounts of the
Government.
d. Joint iv. An adhoc
Parliamentary Committee of
Committee the Parliament.
Codes :

a b c d
(A) i i1 v
B) i i iv il
(C) 1 i ii iv
(D) iii il iv i



43.

gt — [ % gat — 11 ¥ e w 3R
T 5T T F B HET ¥ TE IW H
T H
= -1 = — 11
a. AW =H AT 1. T WA &R
. Hied
b. e R ii. TANEe e
c. e &= iii. ©e® Wefoher
i
d. 9. &9 3R iv. @Rl 3w
F, AHTS e
FECICER)
T
a b c d
(A) i iv i i
B) iv i i i
©) i iv i i
@ i Qi v iii
B <L o s o R § = Ml
T 5T T F B HET ¥ TE IW H
T H
e -1 =t - 11
a. o Famsti sl i 3% 309
T Gt e
T 9T ;T
T T ST
b. WBERI ii. =T 310
FEBRT I &
fereg oiieh Harhi
Pl T Tl
GLRAT
c. AT AR T F  jii. =% 311
foTT e Har
STTANT St e
d. oEd IRAE iv. 3R 312
HaraT & TS
v. =T 315
E
a b c d
A i i i v
B) i i v v
(C) i i iV v
D) i iii
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45. gt — 1 &1 g — 11 § e & | A=
Z;r FZ HI TEE T TEl IW A T
T -1 T — 11

a. WA Q. TH Gl Tl & AR B
FHEANT 5% forog
3T 311 % q&d
TRETUT T ST T&T HT
el |

b. F=pET il TRE @ WER H
TERT Mgt & 37
TeT = e |

c. o iii. Tl B WER &
3T g o
AT T AT |

d. saEd  iv. =T 311(2) % ded

et YT UE ol el |
%
a b c d
(A) 1 i v
B) i i i iv
(C) 1 1 1 v

(D) iv i i il

46. Tt — 1 1 A — 11 ¥ Mo =Y 3]
e ST T FHe I 7T ¥ el IW H
%m=r§ o

= — 1 —1
a. ABTE | WTEAH
afafa EoRENCRING)
THdegaar & &q
Shieqeh AT sl
T |
b. FEE  ii. I Al @ TH
gfafa B E |
c. W% IEE iil. WHR & fatanT
T FHfT wE § g
T H RuE @
S S €|
d. 9gF  iv. 998 # UH gy
T gEfa T |
qmafd
%
a b c d
(A) i v
B) i i iv i
(©) 1 i ii iV
(D) 1




Read the passage below and answer the
questions that follow based on your
understanding of the passage (47 — 50) :

Kautilya’s Arthashastra is a treatise
concerned with political science and public
administration as much as it is with
statecraft, economy and diplomacy. It is
written with the practical aim of showing
how the Government ought to be run. It is
also a highly polemical discourse that has
astonished scholars, particularly on the
themes of  violence, conspiracies,
espionage, etc. From that point of view, it
is highly embarrassing to put forth the
Arthashastra as the symbol of Indian
political thought together with what Greece
has to offer by way of Plato’s Republic and
Laws, and Aristotle’s Politics. However,
the fact remains that Kautilya
recommended such measures only against
enemies and traitors in emergencies. His
proposition was that politics and ethics do
not mix easily. That does not mean that
Kautilya disregarded ethics or morality.
What he meant was that there is a
difference between individual and public
morality. Kautilya made no serious attempt
at theory building. At best, he described
and discussed empirical reality and was
normative and prescriptive in his treatment.
He was keen on efficiency and rationality
aspects of administration. His maxims of

administration include characteristics like

hierarchy, defined competence of each
office, selection by merit, promotion by
seniority, compensation, training and
discipline. The Arthashastra has many
insights and lessons to offer even to the
present-day students and practitioners of

public administration.

47. Explain the main focus of

Arthashastra.

(A) It is concerned with statecraft,
economy and diplomacy.

(B) Itis only a concept formation.

(C) It is not a practical guide to
administration.

(D) It is not a symbol of Indian
Political Thought.

48. Why Kautilya insists the themes of

violence, conspiracies and espionage ?

(A) It is a practical way to run
Government.

(B) Itis a diplomatic strategy.

(C) It is a matter of normal
administration.

(D) Itis concerned with morality.

49. Analyse the relation between politics
and ethics as mentioned by
Arthashastra.

(A) The phenomena of politics and
ethics are separate.

(B) Politics and ethics do not go
together easily.

(C) Kautilya disregards ethics.

(D) Kautilya insists morality.

50. Kautilya concentrates more on
practical administration but not on
(A) theory building.
(B) efficiency in administration.
(C) maximus of administration.
(D) the rationality of administration.
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= fqU T TR W afgw 9e T TR &6
O TH W MU’ W TGF 915 €U T geA
% IR JITT : (47-50)

SHifeea Fod T TV H1 ST Fay ToT-
T HITTel, ST T Hedd 9 ¢
AT & TSI TR der e uemeE | ot
T | TS TG & ARG 2 T & fF

THR H HaeH 9 Ha1 STHT =feT | 98 U
3T HifC H AR-[TaE W oy ff & e,
foora: e, wedw, STgel sanfs fowdi w
T AE-[amt = fogmr forr i arEma &
fean & | 33 gfewio ¥, wier ad Rufserss qen
A TE IRE] Tud difaeed — e gAm
I o o Udis o ¥4 H IRqa fohan
ST & — o T 3TN T YR SIS
foa & wdls & 9 § Ud @ A S
THAM | R o 9 9w € difeed A
TITTShTeT | helet I3 31X SeIRiteat o faes
T UHR % ST i A B AR &l & |
ITH AR At Toh TS qr SATERee
AT ¥ Uh-g F i &t e ST @b |
T 37 TE R & foF Fifeed 7 eRen A
AR I STERTT Sl | SHBT TR Tg T

KT o7 Toh Saferden ATdehdn T2 eilsh-Afaehdl |
AR T | Tagia FHor & fow wifeeg 4 19
T e AT | SAfen-g- e 39 STiae

Jq & foeed R gue fRar ger eH

T[T Sl HHSUEHS Td el ST
@ | 3TH! SYHAT TIHA ol HIAFIIAT Tl
foarenetiear & ot | W o & H 3%k A |
URTISRH, U® U 1 URWITA |IHe, Jradr
% ER WO, aNedl % AR YR,

HTEST, UFRTETOT T SR IS & | ST
N WAl TN % MY USieRl qe
fornférat =t ot s R H dig qur sl
TEH AT T |

47. 3TIRIE % P o (5 S ARAT HIT |
(A) THH &Y ITSF-GAOH  HITTT,
STeHeT T Pl & |
(B) TE U HehoUHT (Eq0 O ¥ |
(C) e e ] UH FRRING T

(D) T& URAE IoFiae foaa @6
TR TEl |

48. Wifeca T fEa, weaa qun STt fous
W & 3T & 2

(A) T& WHEX TOH F AT

TR T |
(B) T U Feideh WHIT § |
(C) T [T URE i faua € |
(D) TEHI Gy AfAHAT T ¥ |

49. TR H Tad eI a2 STERE

(A) TSI T RIS H IR
G-I ¢ |

(B) TSI T SRS ST &
TS T Tl @ |

(C) Hifeed I ORI Hl LA
HE |

(D) hifeea F Afaehar W o fgan € |

50. wHiiced ARG WM T & <al &
W WA TRl |
(A) Tagid fFmor
(B) VRIS H SHrgrerdr
(C) veTEH % g
(D) WA St foeheiierdr
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